
1/4" (6 MM) TEMPERED CLEAR GLASS SLIDING DOORS

1/4" (6 MM) TEMPERED FROSTED GLASS SLIDING DOORS

2-PIECE ACRYLIC WALL WITH BUILT-IN SHELVES

ACRYLIC BASE WITH INTEGRATED TILING FLANGE

INSTALLATION GUIDE

Fabriqué et emballé au Canada /
Made and Packaged in Canada
Pour / For 
TECHNOFORM IND LTE
Québec, Canada  J6J 4Z2

MSD-OSD-HSD-K-001_02



 

TOOLS REQUIRED 

MSD-OSD-HSD-K-001_02

BEFORE GETTING STARTED
You must carefully read the instructions contained in this guide 
before proceeding with the installation. Keep the guide for future 
reference.

BEFORE STARTING: 
Ensure all the parts are included in the kit and that they are all 
in good condition. If you find a defective part, please take it back 
to your store immediately with the appropriate invoice bearing 
the date of purchase. The limited warranty of this product co-
vers the replacement of parts with  manufacturing defects. 
It is imperative that warranty claims be made prior to installation.
Two people are required for this installation due to the weight 
and fragility of the parts.

WARNINGS
•  To allow proper opening and closing of the door(s), it is of utmost 

importance that all components be levelled, set on 
a levelled floor and on walls that are also levelled.

•  Handle metal parts with care.
•  During the installation, protect the bottom of the base with 

the packaging cardboard to avoid any damage.
•  For the installation of the faucets and chosen drain, please see 

the manufacturer’s instructions.
•  Always wear adequate protective gear for the work you do.
•  Before drilling the walls and floor, check your measurements 

carefully.
•  All measurements are expressed in inches and millimetres.



No Description Qté | Qty

1 Montant mural / Wall jamb 2

2 Profilé de panneau fixe / Fixed panel profile 2

3 Joint de panneau fixe / Fixed panel gasket 2

4 Panneau de verre fixe / Fixed glass panel 2

5 Déflecteur d'eau (court) / Water deflector (short) 2

6 Déflecteur d'eau (long) / Water deflector (long) 2

7 Rail de porte / Door rail 2

8 Panneau de porte coulissant / Sliding door panel 2

9 Joint de porte magnétique / Magnetic door seal 1

10 Ensemble de poignée de porte | Door handle kit 1

11 Roulette supérieure / Top wheel 4

12 Roulette inférieure / Bottom wheel 4

13 Butée de roulette Gauche /  Wheel bumper Left 4

14 Butée de roulette Droit / Wheel bumper Right 4

15 Pince de panneau fixe / Fixed panel clip 4

16
Vis No     8 x " (ST4  x 10) / #8 x " screw (ST4 x 
10)

14

17
Vis No 6 x 1" (ST3.5 x 25) / #6 x 1" screw (ST3.5 x 
25)

8

18 Vis No     8 x 1 " (ST4 x 30) / #8 x 1 " screw (ST4 x 30) 6

19 Vis No     8 x " (ST4 x 14) / #8 x " screw (ST4 x 14) 4

20 Rondelle de cache-vis / Screw cap washer 12

21 Cache-vis / Screw cap 12

22
Cheville d'ancrage en plastique / Plastic screw an-
chor

6

23 Drain / Drain 1

24 Base de douche / Shower base 1

Aluminum and plastic 
profiles

PARTS

MSD-OSD-HSD-K-001_02



No 

No 

PARTS: WALL KIT

Joist Bridge

MSD-OSD-HSD-K-001_02



Tuiles Tiles

Cloison sèche 
Dry wall 

Structure de bois Wood structure

Installation with ceramic tile wallsInstallation with optional acrylic walls

Murs optionnels
Optional walls

Cloison sèche 
Dry wall 

Structure de bois Wood structure

PREPARATION

When installing a unit with the optional walls, the base must be 
fixed to the wood studs and the walls to the dry wall.

When installing a unit with ceramic tiles, the base must be fixed 
to the wood studs of the structure.

MSD-OSD-HSD-K-001_02



Cardboard

Protective film

BASE INSTALLATION

First, remove the protective plastic film on the shower base and 
proceed to make an inspection of it to check for any defects. Next, 
make sure to protect the shower base throughout the installation 
steps. A piece of cardboard cut from the packaging or a piece of 
carpet could be used to prevent any damages during the installa-
tion.

MSD-OSD-HSD-K-001_02



Strainer

Rubber Washer

Lip Washer

 Nut

Shower Base

Put the shower base in place and validate that the waste pipe is 
properly positionned. Next, level the base and trace the position of 
the flanges on the structure and the outline of the base on the floor, 
mark the studs where you are going to drill the flange holes before 
removing.

Proceed with the drain (#23) installation. Make sure to place 
the parts as shown on the assembly diagram. DO NOT apply silicone 
or plumber's putty during the drain installation. This may damage 
the drain and cause water leaks.
Once the drain assembly is done, proceed with a dry fit and check
if the plumbing connection is adequate. Then do a drainage test. 
If the water does not drain completely adjust the leveling and ad-
just the flange marks on the structure.

MSD-OSD-HSD-K-001_02



Plastic film

The shower base MUST NOT be supported by the temporary sup-
port blocks underneath the base. A bed of thin-set mortar must 
support the basin. Make sure to apply a sufficient quantity to fill the 
gap between the floor and the underside of the shower base once it 
is fixed and leveled. It is recommanded that a plastic film be placed 
on top and under the mortar.

Once the plastic film is placed over the thin-set mortar bed, 
cut an opening for the drain connexion 
to the waste pipe.

MSD-OSD-HSD-K-001_02



Thin-set mortar

Floor

Waste pipe

Put the shower base in place by applying pressure until the flanges 
are aligned with the marks previously made. Afterwards, check 
if the base is perfectly leveled before moving to the next step.

WAIT 24 HOURS BEFORE PROCEEDING TO NEXT STEPS OF YOUR INSTALLATION

MSD-OSD-HSD-K-001_02



Screw #8 x 1¼ "

Once the base is in place, drill the flanges with a drill bit of the 
same diameter as the #8 screws. These holes will be used to se-
cure the base onto the structure. Afterwards, countersink the holes 
with a countersink drill bit of a diameter similar to the screw head.

or

Once the holes are drilled, secure the base onto the structure 
with screws #8 (not included) using a screwdriver.

MSD-OSD-HSD-K-001_02



Plastic film

Remove the protective plastic film on the wall panels. Next, apply 
a continuous bead of silicone in the cavity at the wall junction. Ap-
ply a sufficient thickness of silicone to have a watertight assembly. 
Afterwards, assemble the wall panels with the screws, washers 
and nuts (included).

OPTIONAL WALL INSTALLATION

Front View Rear View
MSD-OSD-HSD-K-001_02



Place the wall assembly on the base. Make sure they are pro-
perly positionned and leveled. Afterwards, trace the contour of 
the walls with a pencil. Once done, remove the wall assembly 
for the next step.

1"x3"x3/4" (25.4mmx76.2mmx19.05mm) 

Install 1"x3"x3/4" (25.4mmx76.2mmx19.05mm) wood furring at about 
1/8" (3mm) from the lines previously traced. The furring should be se-
cured directly onto the structure or glued with construction adhesive. 
Make sure the furring thickness does not exceed 3/4" (20 mm).

You can also use a 3/4" plywood sheet, that covers the entire space 
of the wall to be installed for maximum support.

MSD-OSD-HSD-K-001_02



Apply construction adhesive to the surfaces of the furrings that will 
be in contact with the acrylic walls.

In order to have a perfectly watertight installation, apply a silicone bead where 
the wall assembly and base will be connected. Afterwards, place the walls and 
press firmly on the recessed surfaces to ensure a good adhesion. Before installing 
the door, apply a continuous silicone bead at the junctions of the walls and also 
between the walls and the base.

You can use 2x4 lumber to wedge the walls while the glue cures, wedging 
them from the base of the shower to the ceiling. You can use the polystyre-
ne foam included in the door packaging, to protect the wedged surfaces. 
Wait for the time required by your adhesive product before proceeding to 
next step.

MSD-OSD-HSD-K-001_02



DOOR INSTALLATION

Using a Phillips screwdriver and the screws (#17), assemble the rails (#7) 
and the fixed panels profiles (#2) by aligning the profiles, as shown be-
low, at the top and bottom.

Install the wall jambs (No. 1) and place the 
assembly on the shower base.  Position the door 
so it's perfectly centered with the base threshold 
and leveled.  If needed, use the wall jamb 
adjustment space to plumb.

If you are doing an installation with the optional 
walls you can immediately secure the wall jambs 
with the screws #18 (as shown in detail 1), starting 
at the bottom, plumb it, moving up with center and 
top holes, finishing with screw caps (as shown in 
detail 1).  Then go directly to step C6. If you install 
ceramic walls go to the next step C3.

OR

Fixed panels profiles 
adjustment.

MSD-OSD-HSD-K-001_02



After the holes are drilled. Insert the plas-
tic screw anchors (#22) with a rubber mallet. 
Once the anchors are in place, apply a drop of 
silicone on each tip of the screw anchors.

Once the door frame is in place and proper-
ly positionned trace the location of the wall 
jambs and the screw holes on the walls.  Next, 
remove the door frame. Afterwards, drill the 
anchor holes using a drill bit of the same size 
as the plastic screw anchors ( 22).  Make 
sure to use the proper type of drill bit for your 
wall surface. 

MSD-OSD-HSD-K-001_02



Once the silicone is applied to the anchors, fix the wall jambs (#1) 
on the walls (as shown in detail 2).

Now that the wall jambs are fixed. Insert the door frame in place 
and make sure it is properly positionned centered in the threshold (see detail 1 
on page 14). If needed use the wall jambs adjustment to plumb. Install the fixed 
glass panels (No. 4) onto the door frame.  Once the panels are inserted into the 
profiles,  secure them to the rail with the fixed panel clips (No. 15) and the 8 x 
  " screws (No. 19).

MSD-OSD-HSD-K-001_02



Make sure to place the fixed panel gasket on the inside face of the shower door, as shown 
in detail 3.  Using a wood block, push the gasket in place until the top lip is against the 
aluminum profile (As it shows herunder). 

If difficult, use a mallet lightly tapping on a block of wood. Cut to length. 

Afterwards, plumb the structure and proceed with drilling the pilot 
holes. Make sure to use drill bit (included) slightly smaller than the 
screws (#16).

MSD-OSD-HSD-K-001_02



Interior

Install the water deflectors (#5) on each edge of the fixed panels. 
The lip of the water deflector should point inside of the shower. 
Cut to length if needed.

Bumpers position on top
(Inverted on bottom)

or

Après avoir percé les trous, fixez le cadre aux 
montants muraux, à l'aide des vis et des cache-
vis (No 16, 20 , 21). Par la suite, installez les bu-
tées de roulette (No 13, 14) sur les rails à l'aide 
des vis (No 16).

After the pilot holes are drilled, secure the door 
frame onto the wall jambs with the screws and 
screw caps (#16, 20, 21) . Afterwards,  install 
the wheel bumpers (#13, 14) onto the rails with 
the screws (#16).

MSD-OSD-HSD-K-001_02



Exterior Interior

Exterior Interior

Exterior Interior

Exterior

Upper rollers

Bottom rollers

Install the top and bottom wheels (#11 and #12) on the sliding 
door panels ( 8). Make sure to position the wheels as shown on the 
assembly diagrams. Next, install the door handles (#10). Afterwards, 
place the water deflectors (#6) and the magnetic door seals (#9) 
on the edges of the sliding door panels.

MSD-OSD-HSD-K-001_02



After the door panel assemblies are done, insert the top wheel 
(#11) onto the top rail. Next, insert the bottom wheel (#12) 
by pushing on the spring buttons.
Once the door panels are in place, check their alignment and make 
sure the magnetic seal closes tightly. If required adjust the door 
panels using the adjustment screws on the top wheels.

MSD-OSD-HSD-K-001_02



WAIT 24 HOURS

MSD-OSD-HSD-K-001_02



ENTRETIEN MAINTENANCE
We recommend regular disinfection to prevent bacteria from de-
veloping.  For daily cleaning, use a cloth and mild soap. DO NOT 
USE ABRASIVE CLEANERS, METAL BRUSHES, SCRAPERS or any 
other products that could scratch and dull the surface. Avoid any 
product containing ammonia which could alter the shower finish.

GARANTIE LIMITÉE DE TROIS (3) ANS 

EXCLUSIONS ET LIMITES DE LA GARANTIE LIMITÉE

LIMITED THREE (3) YEAR WARRANTY
NOVELCA offers this limited warranty for three (3) years from the 
date of purchase of this TASSILI product (hereafter : the “Product”).  
A list of all the TASSILI products covered by this limited warranty 
is given at the end of this document.
This limited warranty is valid only for the original purchaser 
 of the Product and is not transferrable.
The present limited warranty is not meant to exclude, restrict, 
limit or modify the legal warranty given by law to the purchaser 
 of the Product.
This is a quality Product. It was made and selected with care. 
 If the Product contains a manufacturing defect or if one or more 
parts of the Product is defective, the retailer commits to replace 
or repair, at its sole discretion, the defective part or parts without 
charge under the following cumulative conditions:
1) the purchaser must contact the retail store where the Product  

was purchased ;
2) the purchaser must return the defective part or parts  

or the Product the to retailer ;
3) the purchaser must provide the retailer with the invoice as proof  

of purchase and date of purchase of the Product ;
4) the purchaser must supply the Product identification information,  

namely the serial number or the model number ; and
5) the period of three (3) years covered by this limited warranty 

must  not be expired. if the retailer decides to replace the defec-
tive part or parts, the replacement part or parts would be new  
or reconditioned, equivalent to new parts.

EXCLUSIONS AND LIMITATIONS OF THE LIMITED WARRANTY
This limited warranty is not applicable:
1) To consumable parts ;
2) To normal wear ;
3) When the Product is used for purposes other than residential  

or for purposes other than those determined by the manufacturer ;
4) When the Product is not installed by a qualified plumber when  

plumbing is required ;
5) When the serial number or other identification information 

 of the Product is erased or withdrawn ;
6) To damages that are only aesthetic and do not affect the normal 

use of the Product, namely scratches, bumps, etc. ;
7) To labour costs such as installation, de-installation or shipping  

of the Product, which must be paid by the purchaser ;
8) To service call costs, when the service call is made while  the 

warranty is not valid ;

MSD-OSD-HSD-K-001_02


